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NAME ____________________________________

Quiz – Stoichiometry and Percent Yield # 1
1
In the following UNBALANCED chemical equation.


CO  +   H2 (    CH3OH

The atomic weight of Carbon is 12 grams
The atomic weight of Hydrogen is 1 gram

The atomic weight of Oxygen is 16 grams

a     8 moles of hydrogen gas will require how many moles of CO to react with ?


b     How many moles of CH3OH will be produced from  8 moles of Hydrogen gas ?


c     If 2.5 moles of CH3OH  is actually produced, then what is the percent yield ?

2
2 Sb2S3  +  9 O2  (  Sb4O6  +  6 SO2

The formula wt of Sb2S3 is 339.70 grams

The formula wt of O2​   is 32 grams

The formula wt of Sb4O6 is 583.04 grams

The formula wt of SO2 is 64.06 grams

If 48 grams of O2 reacts, how many grams of each product  are formed ?

3
In the following chemical reaction,   S8 (s) +  8O​2  (g)  (   8 SO2  (g)

The formula wt of S8  is  256.48 grams

The formula wt of O​2  is 32 grams

The formula wt of SO2 is 64.06 grams


a
If 1,000 grams of S8  is reacted, then how many moles of SO​2  is produced ?


b
If 1,000 grams of S8  is reacted, then how many grams of SO​2  is produced ?


c
If 1,000 grams of S8  is reacted, then how many Liters of SO​2  is produced ?
